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(d) Arrive early for a good seat.

ACTUAL TEST )

B 427t R Aol ARSHEX] OH?

of:
(a) 2 30=2 =0il.
(b) (a) (c) (c) (d) (b) ZEARLTA =040
(a) (d) (d) (d) (a) (c) 2ARM E= 2,
) (a) () (A (b) () BE£ K22 LoAH B 2= 5.
(a) (c) (d) (a) (b) [at&]
(a) (d) (a) (a) (b) Xtz 2ol AEARFE 21 82 FH2 (a)olCt
(c)= How long ~72& Zolo] ‘AQ AZFE S01RE
(d) (d) (d) (c) (c) 1S & ol Seio|ct
(c) (b) (a) (d) (d) -
(c) (d) (a) (b) (d) lecturer A ZI0ixt
(b) (b) (a) (c) (d)
(c) (c) (c) (d) (b) W: Guess what? I got a promotion!
(a) () (d) (@) (o) M:
(d) ©) ) (b) (©) a) What'’s all the excitement about?

(a)
(b) Oh, when does the new job start?

v (c) Congratulations. That’s great news.
(d) I didn’t know you had an interview.

W: What would you like for a starter? [3A]
Of: 174 ot? Lt SIS0

M:
=k
(a) To the left. (a) 27F 13| 20| SALI?
v(0) A salad, please. (b) @, M2 US SHSES AKf0[0R?
(c) No, I don’t think so. (c) &5k, =2 AAlo|Lt
= ST 4
(d) I have to excuse myself. (d) U7} OlE|= st ZHE 22104
(o] (]
o Trlesls FRes sHE L OfFH= RHlo| ST AMS Fioh 9Tt B2 AMS B
d: 2 Holl= =atoll F=ALE &7l 7 |ts 2~= SE0[ 2f0F 5t
(@) B TR, D@ HHS (00l ()Lt (dis 3P AAS Hal SUS
(b) Meie= =ML, I g 4 A= SEOoICH
(c) OfLR, 23 2I6tX| 2ot .
() AlfBIELICH ot _ )
promotion %!, Zl& excitement AlLi= &, &2
[sd
AlZ0IM Holks TS A0l 211 U= Aol M: Samantha stood me up last night.
b 2900l sidshzs M=ot L= (b)7F "ol W:

a) Your legs must be really sore.

b) You shouldn’t have done that.

[012] )
)
)
)

starter TX22| excuse &zGiCH #HY

ol

vic
d) You still look great without sleep.

(

et (
(c) Oh, no. I'm so sorry to hear that.
(

M: Do you know what time the lecture begins?

W (st
v (a) In about a half hour. = SamanthaZt O{AIEf0] & HIZSIRI0] .
(b) The lecturer was late. oq:

(c) About two hours long. a) o] &4F ol
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S A4-0lCt,

[o1=1]
stand someone up ~E HIZESICI  sore 0K,
247ek=

W: I'm really nervous about my test tomorrow.
M:

(a) That sounds exciting.

(b) That class is really hard.

(c) I have an exam tomorrow.

v (d) I'm sure it will turn out fine.
[aHAd]

Of: L RUS Al T=Z0 2 2IEe],

=F

(a) 274 ToIQUZ=dI

(b) 2+ L o2

(c) L LHY AIR0] 101,

(d) B2 Bt QS 742t 2hll

[aHAd]

U Us AlRs Aot Q= KXol e - Y=ol &
2 Mok= Ho= A "E2 Zupt Qg et =l 2t
SEot= (d)7F AEsH Bkgo|ct

[01=1]

nervous 7I&st E2l=, 228t turn out ~ ~22

ZE0| LiTt, BiyCt,

M: Our new office is just fabulous, isn’t it?
W:

v (a) Need I say more! It's gorgeous.

(b) Yes, I heard that we’re moving out.

(c) We should have a new office for us.

(d) No, the construction will be done by next

week.
(8]
' R2| M AR B BUECH X gof?
o
(a) O L2 e Ul BLiECH
(b) 22|17} OJA} ZITH S04
(
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v(d

(d) Of|, SAt= CHEZ0f 2HChD ofH|

[aH4]

Need | say moregt= Z2 o 04 20| 2R giCtk=
c=0ld, ciigrel &olof fabulouset S2J021 gorgeous
£ MEsI0 ARA0| Y ZCte Zig HSH ()7t &

Eolct,

[012]]

fabulous =%!, 2UiF=, 2AlGt (=gorgeous)
Need | say more. 22 T2 gict, F2otH Ttaelct
move out O[Al 7ICH  construction 2Af, 714

W: Why is Nathan late for work these days?
M:

(a) That’s your personal business.

(b) It's good for him to wake up early.

(c) He doesn’'t know why I was late today.
(d)

v (d) Maybe we should ask him what’s wrong.

(5]
: % Nathano| 9 0|27 X242 20| 5tx1?
L
(a) 121 L{o| AfatEtO|X) .
(b) L™ UofLH= A| 0 Z0t,
() = U7t @5 off SR1=x| 22,
(d) 22 20| QU=X| T0i|| S0{oF & % 2ot
[3HA]

Oixk= M| 3XAte] Z2 A2 X[2{0f thal otsiste AT,
y S LOHHHL 5= (d)2F 2= SO

.
>~
N
1
=)
d0
I

mO

wake up (E0flA) 7ict

M: Chloe spoke harshly to me the other day.
W:

(a) You're forgiven.

(b) We'll try again later.

(c) I made a big mistake.

(d) I'm sure she didn’t mean it.
[aHiAd]

&1 ChloeZ & Hofl LgHe| &t ZE U0,

[at&]
AT IT2REH Y

=}
= HEZ (d)2t &2 SEE &+ Ut
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[of=1]

harshly 7AZ7, 2671 make a mistake &+
SICt  mean something (E2¢f 2|=5 Eol) ~ =
o= It

W: Excuse me, who should I be speaking with
regarding the student loan?
M:

(a) I cannot find Steward anywhere.

(b) If you're lonely, you can hang out with
me.

(c) Apply for a single room to use the dorm

alone.
v (d) Ask Mr. Jones at the student financing
department.
[aHiAd]
Of: AeFLCiet, SiXig tiE2 ol &7 GiREtof ot
LIR?

(a) Stewards 2 371012

(b) QUZRAIH, M2t A AR 2= e

(C) BRI 7[&At MA[ZH 1QIMS MHGINE .

(d) SiXt2 EE9] JonesM HREMR

[3H4d]

OAP} siXtE thES 2eai® w12t of7[sH0f Sk=X]
HXtollA Z2BictH. HYXIE Y= (0)7F A& ol
o

[o13]]

student loan XI5 tiE hang out with some-
one ~2t &l =L, AZFE BUICH dorm (= dormi-
tory) 7I=At

M: Have you decided to go on a business trip
to Japan?
W:
a) I'm still thinking about it.
b) Yes, I've been there quite a lot.
)
)

4

c) I didn’t know you’re going to Japan.
d) Yes, I think Japan is the perfect holiday

spot.

[aHAd]

H: dEez Y 7P|= 2E0

of:

(a) OF% 242} S0lof

(b) S, 77| B 20| 7FHX]

(o) U7t L2 7k= & 2RO

() 8, Y=L AE FoIARtT M2
%).ndd 39

[at&]
A7 oKt E2EE & AR 2F Z AUX(of tisl =
ooz, Jh XEet g2 0fx] 12 Holcheks 9o

£ 712! (a)olct.

[012]]

business trip 212 =% holiday spot S7IX|

decide to ~ ~5}7|2 ZAASICt

W: I wonder if I can get your recipe for the
chicken soup.

M:

a) I lost the receipt, sorry.
b) I didn’t receive anything yet.

(a)
(b)
(¢) I'm looking forward to your chicken soup.
(d)

v (d) I'm glad you like it. I'll pass it to you now.

[aHAd]

0f: ZA| U] X[7) £ 22

O

[e3]
=

mjo

- ASTH Sk,

T BAE ojiRol, ofet.
L X1 0

(a)

(b) £ OF~ OFF A BHX| Z3M=d.
(c) Ul X2l = 7|ThEA,

(d) tI7F 20t 71 . XIg diA S
[‘H‘é1

Efxtel Brg2 (d)olct,

[012]]
recipe 228 receipt @5 look forward to
something ~& 7Iti5iC}

M: Can I do the group assignment with you?
W:

[aiA]

B 35 o LY 2ol g 4 ASTY
o

a) UIZH A 2012 FAM 71

c) W7t 7146t7 |2 CrEF 7] ok =,

)
b) Otf, OF& ELHX| Z3H04.
)
d) 8, OlHol= 2822 WHIE shiof Ectar SO,

(
(
(
(

[a4]
O5 MHIZE 20| 2 4= AUk gAte] 2o HEet iy

2 WM S0EF 0] 7[HOiH 23Xz S WS &
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S25l= (a)ct,
E)

assignment x|

W: Can you fax these documents by the end
of the day?
M:

(a) Yes, the technician is here to repair it.
(b) It's important to include a cover sheet.
(c) Of course. Just leave them on my desk.
(d) You shouldn’t wait until the day is over.

X k= ERolA =82 2Fot 2= 0|
=5t= ()7 HEolot,

[013]]

technician 7|=Xt cover sheet HX| be over
ZLITt

i
rol
k=)
ol
N

M: How do I register for my classes?
W:

(@) You can be enrolled in music class.

(b) You must take 20 credits per semester.

(¢) You can pay for tuition by using a credit
card.

v (d) You can enroll in classes through the

school Web.

[sHad]

12 S22 o{EH S1LIR?

o:

(2) 29 0l S2aHA 4 UsLc

(b) et &V|d 20e/EE S2M0F St

(c) SHl= AIB7IERE XISetME ELC

(d) BHm YAOIES S5 H2S SZal4 4 YesLict

[0121]
register for ~ (= enroll in) ~2 S5ttt tuitions
S|, 54| credit &H
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v (b

v(a

W: Anderson’s new movie was beyond
compare.
M:

a) [ agree. It fell short of my expectation.

Right. It’s the best movie he’s ever made.
c) He doesn’t like to be compared to others.

(
(
(
(d

I know. I think he stopped making movies.

[attA]

0f: Anderson®| M Fak= HIZ O gl= 288 st
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[o12l]
beyond compare HIZ Ol 8i=, Hlug & g B2
Folt fall short of expectation 7|cHofl &2 OIX

W: Thank you for choosing Atlantic Airways.
May I see your ticket?

M: Of course. Are there any window seats
available?

W: Yes, there seems to be just one left.

M:

I'll have that one.
b) I prefer aisle seats.
C

d

I like plenty of space.

(
(
(
(d) I prefer a seat on the right.

[attA]

© Allantic &f8= 0IEsH =AM ZABILICH, ERIZ &2
o FAIELIIN?

e 2E0[XI1Q. 7 & X2t of ALR?

Of: U, = et Xi2|7t ot Z

2

14.10. 21. 2% 4:L4



TEPS LC &g 3m(=

[aH4d]

“Are there any window seats available?S Salf
HAUL AT K28 MSSiths 8 Y 4 ATt WatA
2|7} Act= S22 Lol ofz22l= HAtel SE2 (a)0]
Tt (b)= Ate] 0|M 221} Raro =2 20| = 24 Qirt.

[013]]
available 0|& 7t55t aisle seat 2= Xi2|

W: You look so familiar. Have we met?

M: 1 don't know. Were we at university
together?

W: Oh, I remember! You're Debbie’s brother,
aren’t you?

M:

a) No, I'm afraid I wasn’t there.

)

b) No, I'm off to meet someone.

v (c) Yes! Are you a friend of hers?
)

(
(
(
(@) Yes, I met a lot of people in school.

[aHAd]

0f: gs| ol U, L7t FHATIQY

B 2K, 227t 22 tstus thdLR?

0f: @, 412} 02! Debbiel| @i, IEA?
\Ef

ﬂ Q*EOM LE AMFES TR,

thetz 0|F0f 20t sfAE2 £H0| OfH, 25| 0fE
710X DFRE! SE0ITE, 7|2 TS0 M= 01EA &7

E AfO[RIX] O*OPLHE11 5l Qleoz Debbiel| 27t
OtLb= OIRte| =01 ()7t 7+8 & of22Ict
[01%]]

be off MLICH, S&oict

M: Hi. I'm trying to find the central market.

W: Okay, but many of the vendors are closed
on Sundays.

M: I don’t mind that. Which direction is it to
the market?

W:

a) We must be getting close.
b) It has plenty of new shops.

(a)
(b)
(c) There’s nothing I can do about that.
(d K

v (d) Keep walking three blocks down this road.
[aHAd]
H: ogohle. SY AEE Hi UA=HR.
Z).indd 41

2 oiX| 2012,
AR, o oz JHH £7?
o4:
a
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vendor A0 LR

W: Did you interview for the new position?
M: Yes, and I really hope I get it.

W: How long until you are notified?

M:

(a) CIS F0f Y4Z= Hot

(b) OF%] TS BioF 2 ARFE0] Bot

(c) HTS 302 A& 20

(d) Lk= o[o] 25 Hof 52310

[aHA

CAtE B Zat S22 7K Hott Z2l=x| 210 Q)

082 (a)7t MHOICH AQ 7RIS I5E & QX[ A

P EEEE AEE il £ 2 It (d)e THARO0I2
a

notify EX|[SZ]5iCH

M: Look at the list for the school supplies!

W: I know. There is a lot to prepare.

M: But we really have to be equipped with all
of these items. What should we do?

W:

(a) I don’t know how much they’ll cost.

v (b) Let’s go half and half on buying them.

04
o

2
gl=
nx
>
~
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(c) We should learn how to use the equipment.
(d) You can buy them at the university book
store.

[aHAd]

o SISE 2|AE & g
0f: J{Limt, ZHIE A R Lt

o SR 2l N SFRES MY F|sof 5ot of

(RPN Y

0f:

(a) =0| Lot SO{ZX| & 22701,

(b) 22| gt LIEA ALKE,

(c) 2l 1 7175 o AIEst=A] OO0 .
(d) 2SS thet MEOIA F10HEE 4= AN

[sha

[o1=1]

school supplies &&=

be equipped with ~ ~2 250t ZH[otct
go half and half on ~ ~& Bt LISCt

W: It seems there’s something different about
you.

M: Yes. I got a haircut over the weekend.

W: Oh, of course! It looks great. It suits you.

M:

v (a) I appreciate the compliment.

(b) Can you recommend a salon?

(c) I wouldn’t say that if I were you.

(d) You are the first person not to notice.
(8]
of: 4 &7 Zef Hol=L.
8. Tl H2IE HRO].

a

gL Sxdl. 2 ol

[sH]

Xtz FALS| A SI01AEHUO| & Ol R FTel 2=
t

[o1=1]
compliment &%t It suits you. Ul & o2,
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M: I had a meeting with my boss today.

W: Really? How did it go?

M: He said he is unsatisfied with my performance.
W:

a) I guess we’ll just wait and see.
b) I hope I don’t get fired for this.

(a)
(b)
(c) I wish you hadn’t met with him.
v (d) I'm sure you can improve with time.
[aHiAd]
g 2= AR HEEZ 01,
Of: Z22if? OE7 £Ho1?
L Hutof BHESEX] 2ok,

Ls—
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>
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[0131]
unsatisfied PG| 42 with time AlZHO| X
off w2t o{X[dot

W: Are you coming to the graduation
ceremony?

M: Yes. You are giving a speech, aren’t you?

W: I am. But I'm so nervous, I don’t know if
I can speak!

M:

v (a) Just believe in yourself.

)
b) Maybe you shouldn’t come.
c) I don’t know if I can make it.
)

d) You can write about it instead.
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OIXH= B9 OHES YED VG ULt ATHYS He
S (a)2t 212 S| 2lof it

[of1]

ceremony =of @Al oAl give a speech &4
SICt

M: 1 guess there’s no point in trying to
convince you to stay.

W: No. I like my job here, but I have to move
on.

M: What are your plans after you resign?

W:

v (a) I'm finally going to start a business.

c) I have a lot of packing to do if I'm to move.

d) I wish I could have spent more time with
my family.

(5]

B GAI0] o7 ] ot A== H50 ol 480 UL,
Sl 07| Lol £7|= SEXIRE, ZtoRRt Sk,

E*i E|AL 20| RS ot Al=oIMR?

of:

(a) ECIO) M| MFS AlRtoh Ead1 gL,

(b) Y AEIME Mizg GLICh

( ol

(

)

b) I will turn in my resignation tomorrow.
)
)

(
(
(
(

b

)
)
c) 7171 EICHH Mok 2 Zo| EELC

d) 7E5at O] 2 ARte BROH 24 o
(4]

A= oIRte] EIAL = AI=lof celf 212 QU
(a)olct. (d)= 7150 O B2 ARFE EURCh= A0
LI2f 7150 B2 AlZke BUIX| =8 Aof gt =3(0|1=
2 AX7FSEX] =L

[0121]

there is no point in ~ ~3li&= OIF A&0] giCt, 20|
7t QICE turn in MIE3SHCE resignation AEE, AFRIA

0

i

0z

o

2 16

W:1 feel under the weather. Something’s
wrong.

M: You're speaking through your nose. I
think you caught a cold.

W: Oh, great... I thought I was just tired.

M:

(a) It will be sunny tomorrow.

v (b) You'd better go to see a doctor.

(c) Today is a bit colder than yesterday.

(d) You have a talent for guessing the weather.

C

)
)
)
)

[3#44]

Of: Lt Z01 & ¢ Z0t, &7t &RE A &0t

%).indd 43

ok
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WHO| ARIZ BiY|. L AlZioll 1 27| ZEl 24 2

AN E
o,
L OF I, . o Ik IEEt 21 & Rt
L
(a) LU BHarE 740t
(b) QIAF MMLI Th= A ZE A ZOF,
(c) @52 OfFECt o &Y.
(d) M) 9Er| AZIO| QU
[aHA]
OABE 27l 2R A 2 Aol PR r 5| &
4 9l S oAb MMHS o} Hatn BR3KE (b)
dtof @it
CE)

feel under the weather 7|20| €It  speak
through the nose ZAYW0| A2|= 3Lt catch a
cold #7[0ll Z2|Ct  have a talent for ~ ~0i 4
20| Ut

M: Professor Wilson is a really tough grader.
W: What did you get for the last exam?

M: C+. It ruined my average grade.

W:

a) You are one lucky boy.
b
C

I am really happy to hear that.

(a)
(b)
(c) The professor really is a strong man.
(d)

v (d) T hope you don’t get too discouraged.

[aiA]

= Wilson 7"”8 Y HrE WA FA,
o)

Lt
of:

(a) & HY 20] Z2 ofolot

(b) 1 L= SCL| HL 7|4

(c) 2 ud HY 8l 22 E0|A|

(d) U7t U HASHA| LUSH Z2101

[

K|t St71oll Wilson wa~gel £240ilM C+E5 5ot HH0|
0| HoIRCh= HAISE fI=2ch= ofxfe] Mt o=z
= (d)7t 2 4= Ut

[012]]

tough grader &5 W = A~

W: Hey, Matt. Have you met our new
supervisor?

M: Yes, I have. He’s real leadership material.

W: 1 know. He allows every opinion to be
heard and considered.

14.10. 21. 2% 4:L4



M: oMol ACH GR7F Xt A AEEeZ Wl TS
(o] (]

(@ You're right. He’s stubborn. S02AI= UK 2HY s
(b) Right. He puts his opinion first. 7Kg HEoItt. (a)= Ao Sefatioh= SHOA 5
(c) I think he doesn’t care about others. £ = Ql= A2{o] Z0|2= HEGH| Xolt
v (d) I think he will make quite a team leader. E
[5HA1] archive 4 7|5 =t

0f: K71, Matth], 22| M= 2 &Alg 2L} 2I/I01R?
B oul, 2L BIRlE . OF 2 XE=AZ0AEH R,

Of: JE%, oY 2= ARFEC| QA2 E1 nasH.,

M: How are you coming along with the
project for history class?
W: I'm only about half way through.

Lt
(Ea) SHAl 20] B0le . 1 M DRl M: Lucky you. I don’t even know where to
(b) H0IR. 1= X7| oS HSHOR S5 W start.
(c) M izl 282 T A2 MUEMX| b= A & ’
ore (a) Slow and steady wins the race.
(d) M| A4ztol| 25 E25t ElRto| = 7 2ol (b) At least you know what to write.
[5ha4) v (c) I can give you a hand if you want.
(d)

d) I have no idea what you are thinking

OiXl= M2 2 HADH2E ARIE| o ol 2
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AAfoll Cifet Sl gl (d)olct [aHiAd]
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M: I'm doing some research on my family 04:

history. (a) MFEH L2 YA
W: That’s neat. How's it going so far? (b) Z|l2xet 2 MOf SheXle LRt
M: Well, I've learned all I can from books. I'm (c) B =2kE 4~ 101,

not sure where else to look. (d) U7t 2 42iek=R] 22200t
W [e#e)
(@ Don’t worry, we'll find a way. OiXl= IHHIE gigloll = Ctn SiFelE =0l sX12 &
() There’s not much else I can do for you. KP= OFE] AJRIRA} 23T TIHIE OJLA| RISHsHOE SR &
(c) Take a close look if you can’t read the DECH 0 AZoIM X7} &t 2= Ql= S5 (c)olct,

letters. Rt A7 FAE 20| OFF A g7 | ol (a)xE @

v (d) The national archives has lots of family 238 4= ot
information. _
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[at] half way through BtZ, &80l give a hand ==
el U ZEEAOH TSt ZAFS SlaL 2101, = FCt Slow and steady wins the race. =2i=
Of: Z14 2|, XIZ7iK= O1EA| =01 7t QUoi? AAIGIH 0]7IC} MTEH 2US QrECt
H: 5, S Soll & o U= A2 T LoIo], e A2

2 2oF ZX| & 222001, M: What do you think of our new intern?
o W: Oh, you mean Melvin, the tall guy?
(a) AESHX| OF, 20| A= 7oF, M: Yes. I reckon he blends in well with our
(b) HE ®lall LIVt el & &~ U= A2 BX| YoF, team.
(c) 2Rt t=o|H 7
(d)

PIEES W:
| (a) Give him a break.

[aH& (b) Let it slide this time.

t= Ol 2 0]2(9] THE &R0| QA=A v (c) Can’t agree with you more.
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(d) Nothing happened between us.
[5HAd]
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reckon 425t blend in with ~ ~2t 0i22|Ct
give someone a break 2} Lt let it slide =01
7ICt, = 2ot ot

W: Thanks for taking care of my dog.

M: Oh, it’s nothing. You know I love dogs.

W: But still T feel like I'm leaving you a
burden.

M: No worries. Is there anything I should
know about?

W: Oh, yes. Give him anything but chocolates.

M: Okay. I'll keep that in mind. Have a safe
flight.

Q: What is the woman advising the man to
do?

(a) Buy a dog for him

(b) Raise her dog for good

v (c) Avoid feeding her dog chocolates

(d) Eat some chocolates to feel better
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M: I'm really stressed out about this exam.

W: No need to worry. You studied, right?

M: There are things I still don’t understand.

W: Well, maybe I can help.

M: That would be great! You can come over
for a study session.

W: How about tomorrow at 6:00?

Q: What are the man and woman mainly
doing in the conversation?

a) Getting rid of stress
) Making a study date
c) Rescheduling classes
d) Asking about an exam schedule

[aiAd]
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W: I had a lot of fun at the office Christmas

party.
M: Yeah, it seemed like everyone did.
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Everyone except Greg, that is.

W: What was his deal? I noticed he didn’t talk
to anyone the whole night.

M: I don’t know. When I tried to talk to him,
he just brushed me off.

W: One thing’s for sure. He was a real pain
in the neck.

M: I mean, if he hated the party so much,
why didn’t he just leave?

Q: Which statement is supported by the
conversation?

v (a) The man was ignored by Greg.

(b) The woman was grateful that Greg came.

(c) The man understands Greg’s extreme
shyness.

(d) The woman did not talk to anyone at the
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M: Would you mind giving me a ride to work
today?

W: I'm not sure. Can’t you just take the bus?

M: I hate taking the bus. It's always late and

AAG TEPS - LISTENING

%).indd 46

very crowded.

W: Well, it can’t hurt for one day, can it?

M: I just don’t want to deal with the hassle of
taking the bus.

W: Okay. I have things to do, but I can drop
you off at work.

Q: What is the man mainly complaining
about?

a) That the bus is always late
b) That he likes being in crowds

(@)
(b)
(c) The difficulty of driving to work
(d)

v (d) The problems of taking the bus
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W: Did you know that our son’s teacher is
leaving next week?

M: No, I didn’t. Is everything okay?

W: She’s going on maternity leave. She won’t
be back until next year.

M: She’s such a great teacher, and he really
likes her. Who'll replace her?

W: 1 don’t know. But whoever comes will
have big shoes to fill.

M: You're right. Teachers like her are few and
far between.
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Q: What are the man and woman mainly
discussing?
) The difficulties of teaching
) The size of the teacher’s feet
c) The length of maternity leave
) Their satisfaction with the teacher
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[0121]

M: I saw you on the bus today. Is something
wrong with your car?
W: Yeah, I'm having it repaired. I had a small
accident.
M: Well, I'm glad you're okay. How did the
accident happen?
W: 1 was driving down a narrow road and
was side-swiped by another car.
M: Was the damage extensive?
W: There is a large dent in the side, and it will
need some new paint.
Q: Which statement is supported by the
conversation?
(@) The woman discourages fast driving.
(o) The woman is offering him some help.
v (c) The car is being repaired professionally.
(d) The man was injured in the car accident.
[aHiAd]
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W: Look at the fire truck parked in front of
that apartment.

M: I hope there isn’t a fire there. That would
be horrible.

W: There’s only one truck. I think it has been
called for something else.

M: Like a health emergency?

W: Yeah. Probably someone is sick or injured.

M: Well it’s a good thing someone is there
to help.

Q: What are the man and woman mainly
discussing?

a) Different kinds of first aid

b) The cause of apartment fires

(a)
(b)
(c) The reason for calling the fire station
(d)

v (d) The reason for the presence of the fire

truck
[3HAd]
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M: Did you reply to the email from our
partner company?

W: What email? Oh, no. Do you mean the
email about the contract extension?

M: Yes, that one. I thought you were keeping
track.

W: I was. But then I completely forgot about
it because of other works.

M: Well, they expect us to sign another
extension, so you'd better give them
an answer quick.

W: All right, I should do it right away. Thank
you for reminding me of it.

Q: Which statement is best supported by the
conversation?

v (a) The woman had no recollection of the

email.
(b) The man replied to the email instead of

the woman.

(c) The man asked the woman to sign a
contract extension.

(d) The woman was worried about failing the
contract extension.
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W: I think I have to withdraw from Politics
101.

: Come on, it's been only two weeks.

: That’s right. But I don’t think I can take it.

: Can you at least tell me why you want to
drop the course?

W: It’s too hard. I mean, think about all the

readings and discussions.

=

M: But that’s how we learn things. There’s no
royal road to learning.

Q: Which one is correct about the man?

(a) He asks advice from the woman about the
class.

v (b) He encourages the woman to continue the

class.

(c) He blames the woman for giving up on
the class.

(d) He recommends the woman giving up on
the class.
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s 42 FASICE  There’s no royal road to
learning. ti20l= =7t gl

M: 1 can’'t decide what coffee to get. Any
suggestions?

W: Well, are you watching your weight?

M: Kind of. But what’s that got to do with
coffee?

W: Coffees with milk, whipped cream, and
sweet flavors are full of calories.

M: So I should choose a coffee with no flavor
then?

W: Not necessarily. Try a hand-drip coffee. It
has almost no calories.

Q: What is the woman advising the man to
do?
Order a sweet coffee

Watch his weight carefully
Avoid hand-dripped coffee

a

(a)
(b)
(€
(d)

v (d) Choose a low-calorie coffee
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W: Have you told the landlord that we are
moving out?
M: Yes. He said we have to have a final
inspection.
: Before or after we move out?
: Right after we have moved everything

< =

out.

W: Do we have to clean up everything?

M: No. But we can’t leave behind garbage or
any items.

Q: Which of the following is correct about the
conversation?

(@) The man hasn’t spoken to the landlord.

v (b) All garbage and possessions have to be

removed.

(c) The landlord will clean and inspect the
apartment.

(d) The landlord will inspect the apartment
before they move.
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M: Melissa, one page is missing in your
report.

W: Oh, my! I'm sorry. I thought I checked
thoroughly.

M: That’s all right. Everyone makes mistakes.

W: I was too caught up with my presentation
tomorrow.

M: Put your worries to rest. Can you prepare
it by noon?

W: No problem.

Q: Which of the following is correct about
the woman according to the conversation?

(a) She lost her report.
v (b) She left out one page of her report.
(c) She asked her boss to check her report.
(d) She gave an important presentation today.
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W: Brandon, did you check your email?

M: Not yet. What’s up?

W: Tomorrow is our company’s foundation
day.

M: All right! Is there anything I should know?

W: Of course. All of the employees will have
an extra day off tomorrow.

M: I can’t believe my ears! I feel like 'm on

ABH(Q TEPS « LISTENING

TEPS_LC_ & 31 (£3%).indd 50

top of the world.

Q: Which is correct according to the
conversation?

v (a) The man is happy to have a day off.

Cc

(a)

(b) The man is angry about the woman'’s news.
(c) All of the employees should work tomorrow.
(d)

d) The company will be open for business
soon.
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M: Professor Woods, may I have a word with
you?

W: Sure. What is it about?

M: Can I get an extension on the due date of
the final essay?

W: I'm afraid not if you don’t give me a good
reason.

M: 1 have two exams this week, so I don’t
think I can meet the deadline.

W: Sorry, but the essay is due next Friday. I'm
sure you can handle it.

Q: What can be inferred about the man?

a) He has just finished two exams.

(
(b) He is satisfied with his essay grade.
(
(

)
)

v (c) He wants to delay the essay due date.
)

d) He does not know when the essay due date
is.
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W:T'm going to Paris for this holiday. Any
travel tips?

M: Do you have anything particular in mind?

W: I want to visit some locally famous spots,
you know, somewhere un-touristy.

M: You should meet my friend Eric there. He
was born and raised in Paris.

W: Great! He can show me many hot spots
where local people visit.

M: I'm sure he will love to take you around
Paris.

Q: What can be inferred about the woman in
the conversation?

(@) The woman will invite the man to Paris.

(b) The woman will give travel tips to the
man.

(¢c) The woman will go on a business trip to
Paris.

v (d) The woman will meet the man’s friend in

Paris.
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Today we're going to talk about the most
abundant type of organism on Earth. Any
guesses as to what that might be? If you said
bacteria, you're right. Bacteria are single-
celled organisms that can live just about
anywhere on Earth. Many types even live
inside our bodies. While it's impossible to
know exactly how many bacteria there are,
think about this. Scientists estimate that
there are over a billion species of bacteria.
With that in mind, the number of individual
organisms must be staggering.

Q: What is the speaker mainly doing in the

lecture?
a

b
c

d

Describing where bacteria live

Warning of the dangers of bacteria

Describing the abundance of bacteria

Teaching about the makeup of bacteria
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Market Street Bistro is your all-in-one
destination for good food and great fun. Join
us at breakfast for our freshly baked breads
and pastries. At lunch, have a sandwich
with the freshest vegetables in town. And
when dinner rolls around, you won’t find a
better mix of traditional French elegance and
contemporary American atmosphere than at
Market Street Bistro. But the fun doesn’t stop
there. After dark, we have karaoke and live
music for your late-night enjoyment. Come
see the many sides of Market Street Bistro
today!

Q: What is the main idea of the advertisement?

(a) The restaurant is open later than others.
(b) The restaurant uses the freshest ingredients.

v (c) The restaurant has a variety of foods and

events.
(d) The restaurant has karaoke and concerts
at night.
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A research group led by a group of economists
has come to the conclusion that climate
change will cost businesses billions of dollars.
The finding was based on estimates of costs
associated with property damage, lost output
and productivity, and even deaths. Droughts,
flooding and rising sea levels threaten
physical assets and impact the ability to
do business efficiently. The human toll that
climate change will take will impact worker
health and workforce numbers. Businesses,
the group argues, should immediately
start implementing strategies to protect
themselves.

Q: What is the talk mainly about?

a) Business strategies for the future

b) How to maintain a healthy workforce
) Impact of climate change on business

d) Causes and effects of climate change
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Iceland, with its small population and low
immigration, is very attractive to geneticists.
Physically isolated from the world, Iceland
is perhaps the most homogenous nation
on earth. Its entire population, in essence,
is composed of the genetic material of the
Vikings who first settled the island in the
9t century. Furthermore, with a database of
births, deaths, and marriages going back over
1,000 years, the potential for genetic research
is huge. Researchers expect to isolate faulty
genes very easily that can cause diseases or
disorders.

Q: What is the talk mainly about?

a) Dangers of genetic research in Iceland.

b) Genetic disorders appeared only in Iceland
c) History of Vikings in 9t century’s Iceland
v (d) Scientific importance of Iceland’s genetic

makeup
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For months, we've been hearing the hype
over the new action film from legendary
director Simon Chow. And in many ways, the
film does not disappoint. The fight sequences
are well planned and the special effects are a
feast for the eyes. Where the movie falls flat
is in storytelling. The plot often takes a back
seat to the action, and because of that, the
story never seems real or believable. While
this movie is certainly entertaining, it could
be much better.

Q: Which of the following would the speaker
most likely agree with about the film?

a) The story is very true to real life.
It was exciting but poorly written.

c) It was better than the director’s other films.

(a)
(b)
(©)
(d)

d) The special effects were not very impressive.
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The traditional home desktop computer could
soon be a thing of the past. The biggest threat
to the PC is the smart phone. Increasingly,
smart phones are able to perform all the
essential functions of desktop computers.
The difference, of course, is that they can do
this from any location via wireless Internet.
Desktop computers have advanced relatively
little in recent years, and may have reached
the extent of their usefulness in personal
computing.

Q: What is the speaker mainly saying about

desktop computers?

v (a) They are on the decline.
b
C

They will always be useful.

(a)
(b)
(c) They are as useful as laptops.
(d)

d) They are advancing at a fast rate.
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When Bram Stoker wrote his masterpiece
‘Dracula’ he would have never imagined that
vampires could be the icon of 21% century’s
romance. Stephenie Meyer, the author of the
‘Twilight’ series, however, broke the code that
vampires are something to fear by turning
their immortal lives into the possibility of
everlasting love. The reason why the vampires
in ‘Twilight’ are so attractive is that they are
much like ordinary human beings who fall
in love and do anything for love. The blood-
thirsty characters capture teenagers’ hearts
even more with their mythical powers and
more importantly, their irresistible charms.

Q: What would the speaker be most likely to
agree with?

(a) Teenagers love vampire stories most.

(b) Meyer’s book is superior to ‘Dracula’.

(c) Vampires should be fearful to readers.

v (d) Meyer made vampires attractive in her

novels.
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Bitcoin is a new digital currency introduced
in 20009. It is a virtual payment system whose
transactions are made directly between its
users by using mobile apps or computer
programs, not going through banks. Thus,
there is no transaction fee needed. Bitcoin is
more attractive because its users don’t need to
reveal their real names on their purchases or
sales by keeping their transactions completely
private. This brings further protection against
fraud and identity theft. For these reasons,
there is a growing number of businesses and
individuals using Bitcoin.

Q: Which of the following is correct about

Bitcoin?

a) Bitcoin is a new bank system.

)
b) It is used for business purpose only.
c) Bitcoin users worry about their privacy.
)

(
(
(
(

v (d) Users’ identities are hidden to the public.
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Good morning, and welcome to the weather
forecast. It is cloudy in many areas today,

%).indd 55

with some rain at times throughout the
Southern area of the country. We expect it to
become clear gradually this afternoon with a
low of around 17 degrees. Strong winds are
expected this evening, with gusts as high as
25 kilometers per hour. The temperature will
drop to 4 degrees. Care should be taken for
those who are considering night activities.
Bringing thin jackets or windbreakers is
highly recommended. Thanks for listening.
This is TNN.

Q: Which of the following is correct about the
weather forecast?

a) The sky will clear up at night.
b) It will be windy in the morning.

(a)
(o)
(c) There will be heavy rain all day long.
(d)

v (d) The temperature will drop to 4 in the

evening.
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People often visualize Africa as the dry
continent with endless deserts. Yet, there
are many fantastic places that will crush the
stereotypical idea of Africa. Among many,
Mauritius is the most fascinating paradise on
earth, which is a teardrop-shaped island in
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the Indian Ocean. Although the small island
has a tragic history, once colonized by the
Dutch, the French and the British in the past,
the intact nature with diverse species proudly
remain and attract countless tourists to the
country every day. Seven Colored Earth, for
instance, is the most famous tourist attraction
where visitors can see seven different colors
of sand dunes: red, brown, violet, green,
purple and yellow.

Q: Which is correct about Mauritius?

(a) Mauritius is still colonized by the British.

 (b) Mauritius has many visitors for its attractive
nature.

(c) The entire land of Mauritius has seven
different colors.

(d) Mauritius is a well known desert near the
Indian Ocean.
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I never expected myself to say something
so cliché while in tears, but it’s true, I didn’t
know I would receive this honor. I'd like to
thank every single crew member who worked
on ‘Yellow Stars’ Especially, I'd like to thank
Andrew, the world’s best screenwriter. You're
a legend. And Lisa Garner, you're the most
talented movie director. The last 8 months
have been the greatest privilege of my acting
career. And I truly thank you for casting
me for ‘Yellow Stars’. Most of all, I'd like to
attribute this glory to all the audience who
appreciated ‘Yellow Stars’.

Q: Which of the following is correct about
the information delivered in the speech?
a

b
c

The movie was written by Lisa Garner.
The movie took 8 years to be completed.

(
(
(c) The speaker is a well known movie director.
(

The speaker wins a movie award for
‘Yellow Stars’.
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Claude Monet’s famous painting of water
lilies, Nympheas, has sold for 54 million
dollars, making it the second highest price
ever paid for a painting. The sale attracted
buyers from around the world and lasted
for about ten minutes. The bidding for the
painting was very intense, with the bids
increasing by $300,000 increments in the
final stages of the sale. The painting was put
up for sale in 2010, but didn’t sell because it
failed to reach the minimum bid. This time,
however, the market was ready to pay a
premium.

Q: Which of the following is correct about
Nympheas?
a) It was sold for $300,000.

(
(o) The painting was sold in 2010.
(
(

)
)

v (c) It only took about ten minutes to be sold.
)

d) The painting was sold at the minimum bid.
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The Greek philosopher Socrates is most
famous for what is called the Socratic Method.
The Socratic Method is a way for two people

%).indd 57

to debate different opinions by asking each
other questions. The questions are meant to
reveal logical mistakes in the other person’s
reasoning. These questions may also be used
to eliminate illogical ideas and find those
with much stronger logic. Essentially, this
is the same kind of investigation that is the
foundation of the modern scientific method.

Q: What can be inferred about Socrates?

a) He often debated science with people.
b) He thought most beliefs were illogical.

(@)
(b)
(c) He believed that only science was logical.
(d)

v (d) He influenced the modern scientific method.
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Lionfish are zebra-striped, colorful tropical
fish that have long poisonous fins. They are
known to have a unique way of hunting
their prey. When a single lionfish sees a small
group of prey, it flashes its fins to gather
other lionfish. Then, together they corner
their targets. By taking turns, they strike
quickly and eat the cornered prey. This type
of hunting has shown to be more fruitful than
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hunting alone. Another thing is that lionfish
share the food evenly, unlike other animals
that have dominant individuals take a more
and greater share than those who rank lower.

Q: What can be inferred about Lionfish?

a) They use fins to attract prey.

They cooperate in hunting prey.

They share prey differently by rank.

They communicate with each other by

sound.
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Creating a website is a great way to
promote your business or cause. However,
keeping people interested in the website is a
challenge. The idea that you only have one
chance to make a good impression holds true
here. Graphic design is a key to making this
impression. It needs to support your message
and show off your product or service. Next is
quality writing. You need to provide content
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that will engage people and it should be
updated regularly. Finally, let’s not forget
social share buttons connecting your site to
major social media networks. Make it easy
for your readers to share your content with
others.

Q: What can be inferred about an effective
website?

(a) Creating it costs nothing, yet improves
your business.

(b) Updating its contents always requires
computer experts.

v (c) It can attract many people by giving a

good impression.
(d) It can’t be shared with people without
social share buttons.
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